| ol
—«Y» M)f -

q
cotg(—n) = cotg(Ym + E) = cotE =\
f f f

\eTT AT+ T
tanT = tan(

) = tan(Y7 + %) = tan(w +$) = tan% =Jr

el Jole= 1+ (V) = F
(o) ((Fldin (s cuuns = wlidio) (25 0)
T —«» M)f .

—=\/aY
v ITALY
‘0
i m )
£9 9 .
nt=Y/\¥ :\ _ —_—
Yn=¢/YA Y/vy obol,
P)LQ’? (g Y
pow dn>l n=Y’/\\°<Y’/VT<T=T’/V\
V_n:\c/y\ (Bl (5o (scamus = ©lidio) (215 40)
v —«Y» 4_;4.}5_\”

Y7 .
COSYAN® = cos(T+ 10°) = +sin1H°

. AN
SinYdH° = sm(T— 10°) = —cos1d°

Y5
oYd

120
SinAYH° = sin £ 4° =sin(w —14°) = sin \4°

. . T
sin)+&° = sm(;+ 10°) = cos1°

i sinY4° + cos 14° 5 ©)p0 €0s)A°,— tam)a®+)
() = 7 =
27 8in1a° — cos1a° DS S |y @ e tan\4° —)
NAED \V/ YA \YA V7
wlbe=—"—"= = i

JYA=Y  —/VYY -VY 14
(buwgio) (ko (g — wlilio) (AF = (25205 (5 juwl paw)

—«Y» M)f .
1
Sin6=— = 1=14Ysin0
oY

h=0:+1=0++14Ysin0

. f \44 )
1Y =0++10Ysin® = sin0=—=—
Wwy v

(b gio) (Wlidio 8 0,8 = Lidio) (215 0)
—«f» M)f -0

r COS X

N ,.Acos(x—E)
\\_ T /’ N Y

(Yo gio) (5o 19 905 = lilin) (213 o)



T . T Yn . .
?sﬁél JGsl y=—Sln(X+?))|b9A3M‘M)sn 3e5 ,ldo oy ¥ e & X=T).>45 Y =—SINX jlogei a5 d>gi Lm «¥» iy 35 -6

&b loisMaxabss Jgbx = LT _ 8T
Y OF ¥

1 Gl il o MAX alais Job e s 9> s

(L gio) ((SFlikio Y10 g0d = cslilio) (o213 30
- Ay ¥ -V

. \ . AP . \ . Y.
(sinY$°xcosY5°)xcosVYY°® = ;sm YY°xcosYY® = ;(;sm\ﬁ”) = ;sm\ﬂco = ;sm(\/v° —v$o) = ¥s1n yso

. ).
sina-coso = ;Sln(Y(X.)

. .Y Y ) . ).
sinx-cosx(sin' x —cos x)=;sm\’x-(—cos\‘x)= —;sm\’x-cos X

I
X=—
Yf V. w \
——sin—=-—

AR \ .
=——(—sinfx) = ——sinfx
Yy ¥

Y

cos’ x—sin"

X = COS X

159194

(Lawgio) (& Lilio (gasloi| — wlilio) (1 yu0)

=« g8 -A
165919k
(L gie) (il (sooloil = cslidio) (95 40)
—«» M)f -9
sina-cosb—cosa-sinb = sin(a—b) 1Sy9loL

. . cos’ x—sin" x
O,be=SINYX-COSX—COSYX-SINX+————
COSX +Ssin x

(cos x —sinx)(cos x + sin x)

wyle=sin(Yx—x)+ L
cos X +sin x

w,)le=sinx+cosx—sinx = cosx

. . T
sino+coso = Ys1n(?+(x)

cosVA°+sinVa® \/;sin(va°+ fo°) T\/?sinwﬁ _ YJ/Ysing.®

(5lgds) (Flikio slaslnsl = wlikie) (215 30)

1697 8L — «¥» 4y 35 Ve

\/?

YVY X —
Y

=

sin Y&° x cos ¥&° Y. o sin\y-+° sinY.°
—sin\de
Y
tano + cotgo = —
sivyo
cosYo cosYo ) . LA ). = V. T
= = —sinYacos Yo = —(—sin fa) = —sin fo, ——%—> —sin—=
tano + cotga Y Y Yy b f ¥
sinYo

\

Y
(Lawgio) (&l golel = wlilin) (ool ) (5wl yw)

162819k = «P> &y 38 -1

T

>[4

(Lwgio) (5l (slaoloi! = olilie) (a2l o)



=« a8 -\Y

. . \ )
& blie olxil 4y Lycosa-cosb —sina-sinb = cos(a+b) = cos(¥Yx+Yx) = ; = CcoSHdX = ;
T T
COSOX =COS— => OHXx=—
Y Y

(L gie) (il (sooloi] — eslilio) (95 o)
=« 4y ¥ 1Y

Y

cos” o =V—sin"

\#
a=\—— = cosa=
Yo

Z|o ol

. \Ff .
smvB=\—cosYﬁ=\—a = sinf =

-6

W, ¥ & YA Y
P =X =T

sin(a—B) =sino.cosf—cosa -sinf = ( x
p B B 6 WY 70 70

o
(b gin) ((like (grolos| = lilio) (25 ya0)

=« 4y 35 -V
\—cosx in"
= X=tal‘lY —(\/;)T_Y
Y+ cosx veos' X
Y
(o) (i glaolel - wlilio) (gole of o GLS)
—«Y» 4385 10
yYsinocosor ) )
— =1 = tana=— = cota=Y
Ycos' o v
- Y \ Y I\
o)l-:f-=Ytan(;+0t)+\"c0tg(T—0t)=—YCOtga'F”ana=—Y(Y)+\"(;)=—f+;=_;
(bwgio) ((Flidio glaolxil = wlidio) (215 y40)
- <> &35 -\F
X—\<Y x<Y
. s \
X—1<Y<YX+Y = 1, =1, —= Ty X<
X+¥>Y )
o’

(OWl) (Ko luod = 02) (215 o)
18(X) jlog03 a3 Ly m P aiy 35 1Y

limg(x)+ lim g(x)+ lim g(x)=0+0+0=10
x—>Y X—>=Y Xo/¥
(lwgio) (310905 38 9> — u2) (2] o)
—«Y» 4935 A

Y-x20 = X<Y = Dy =(-0,¥]

BSylwias X=Y 40 f(x)
f-x"20 = xX"<f = IxKY = D, =[-Y,¥]

Sylaas X =Y 8 g(x)
Y+x20 = x>2-Y = D =[-¥,+x)

(L gio) (4> pggdo — a2) ((2l3ym0) 0418 u> X =Y 4o h(X)



F(X) Hloges 43 Ly = «¥» 4y 35 14
lim f(x)=v¥

X—>—)
H(X) jloges a5 Ly

lim f(x) =-Y
X—Y

lim f(x)+Ylim f(x) =¥+ Y(-¥)=—f
X—>—) x—>Y

(o) (Ioges 30 a = a2) (215 y0)
—«F» a5 Y.
_(favr@re)

3 X
o X, Y

A
fa—Y=f = a=—=Y

f
(—\,V)—{\‘}

= —v_ (_‘) =

i r ¥

(Lawgin) (K3l = 05) (55l ol pod LS AR = 25l 5 (6 ol pov)



